Equal 9 step grey scaling betweeh*gan=-71 & L*gan=71.5, Yoref=200, normalisation whiteW

L*0anm—71.4,L*0270.0, L*0anF 71.5, Yoan=2.0, Yoa=20.0, Yoaw=200.0,Coay=Yoaw: Yoan=100.0
L*tan=50.3,L*12=53.0,L*1aw=71.5, Y;an=101.0,Y;5=110.0,Yi2n=200.0,Ciav=Yiaw: Yian=2.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* TuBLOG,Ua = 50 / log(5) [ log (Y/Yy) ] with Y,=20

g%= 100, g’y= 99 9%=5, g%=3 g’s= 64, g¥y= 44
L* TuBLOG,Ua intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a AlL*a L*r Yta (L*r) 275 *a Al*a
7o¢OQ 715 1.0 2000 1.0: 715 1.0 2000 1.0 715
: 7.7 3.2
8 536 0875 1125 0.558 63.9 0.638 156.2  0.849 68.3
: 5.3 3.0
35+ 7 358 075 632 0.309 58.5 0.388 131.6 0.708 65.3
3 3.4 2.7
6 17.9 0625 356 0.169 551 0.225 117.8 0.581 62.6
3 2.1 2.4
0*‘5 00 05 200 0.091 53.0 0.125 110.0 0.469 60.3
: 1.3 2.1
.4 -17.8 0375 11.2 0.047 517 0.065 105.6 0.371 58.2
0.7 19
—35*.3 -35.7 025 6.3 0022 51.0 0.031 103.2 0.283 56.3
3 0.4 1.8
.2 -53.6 0.125 3.5 0.008 50.5 0.011 101.8 0.196 54.5
; 0.2 4.1
—70A.1 -714 00 20 00 : 503 0.0 101.0 0.0 50.3

. ; ‘eation- Yoait
*o = = i normalisation: Yigiw=Yoaw 22 Y0ref
DL*gF17.9  (=1.2,..8) | taiw=Yoawy 22l COrer
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